2-3 . . BEKR

% ERS0EEREE B OH XK =2 304 AR S AR
SRS A 1L H BAE) ST 4ES H 1 H HAE)
HERE - mhEEk oL AN MR - Bk N
FREHK 378 ARIEEI 426
ek Hiek 209 | |HESLE 12
= 1 (MY KAmA) 6
a3 0 (REFH 245 5%) 6
PL3E - B, ORIBREE 0| |78 A b 20
[e e 6| |FEZEREELE 1
g 33| |mWbHk A 125
R ABAILRG KE 1 (F5%5) 49
RSt 21 (Az78) 39
i - W 6 (#-t" %) 33
E - e 73 (ZOMEY - H1iie) 4
At - PRER 13 NHE — Bk 0
REE - W) EE 12 e LR 51
FATRETE, BERY - Bl — e R 12 ShHERE 2 32
R - 1ETHZE 13 HRE+ 170
AEVEBE Y — B R - A 14 fEHER AR 6
HE - FEIE 33| |FEEtHE CERCEUS - REI%) 7
=R - fEAk 41| [IEEh A 2
BHEF—E X 1
Z DY —E A 13 BERR=E 99. 5%
NEB 6 (BLIRIR B8 453844
Z DO 0 RS A 2 #1386 44)
— R 7ot 5 9
ok ik Y i 20
M 29
PN 23
P NES (=2 TN 2
B2 4
My 0
T Y i 6
DAl - RNBEE 15

PR ESR 93, 7% %1
HEFER  82.9% X2
HERITER  86.8% X3

X1, BRRRDRE SR = mhikE (L) « 2994 LA 24 (RLIAE bt s Ehilkie ) « 3194

X2, WEERIER = 204 EFAHEE (EEE HIIEE + RFBEER+ tRSESBRE)  © 354
X3, MERPER=MERREH (LI + ) © 32840 AR 1 3184

-34 -



BFFER

BB HIEETTHHRANE
([E ALK F) eIl L[ GEHIRT)
EERT [E1] 1B R E T 1 | RSO R 20
(iR NES 1| EHEBER T 1 | EEER 1
NN R e e N 1 |[HEhER 1
PN AN 1 [zl rs—y R 4 |BEA RELKER 1
FASLER KT [FB2]] 2 bk I PNISR SN TN 1
Fo i RN R 1 | REKRF 6 | RIREHRER 2
EBRT 1 | AN ERER T 1 | BEPE AN EFE RS 4
#t 8 [+ KF 4 7t 30
TS HE R 4
(FLSZRF) TR 2510 R 5 | (FEF2AR)
HR LK IR e N = 5 |REEMASEETMER | 3
Al 6 |/ —ILE DR 1 | RUERE G P 3
SRR (3R] 7 (HEFER 5 | KIRVZT 407 &7 TA5 W 3
TEpNEE 10 | AR EIBR =R K2 4 [RJR fERL R E R R 2
TR PESER 11 | Al T R 7 1 | RBREE 2
UT s K I PEERES Ty N2 3 | A 2
HEFAUNES 19 [ KBRF 5 AR 1 (B 0 AR kBt 2
h#R T [FH3] 30 | RBRFBER 2 W& R R AR 2
IEBR 1 | RIREBEFIER KT 1| KR —PAR =Y B | 1
ey (2] [361) | 2 | RIRT¥ERT 1 [HEBITSEFHEREM R | 1
FERIERL R [HR4] 4 | KRBRPESE R 2 | RBRE 2=74—T— LA | 1
INIE SN € )| 2 | RBRESEE R T 9 [ RBRATZEELP AR 1
KigRARF [31] 1 |BAvEAMERE R 6 | FUAL =T AV B SR 1
A [36] 14 [HRiLZEpE R U [ O f e AR B P AR 1
SRR Y [3R1] 1 B tEHER K 3 |ERANERE AR 1
R 2+ K7 (1] | 1 | RBRRg R 1 |BEALERARN -V | 1
B eEE O [ERE2] | 2 |ERRE 1 [FCEBFRER AR B A 1
JeEKRS [EREE2] 2[RI A = R 1 [Zfth B 14
BRRY [F1] 1 |Fm&ZFKRT 1 7t 42
FERSEmA R [FL]| 16 R LT 7
MRS [F2] 7 | RELRE 4
R HEL TR [H1]] 2 |[JUHEERF 1| (ghliE)
b ek [F2]) 3| Gt 238 [N B 2
RN =N 1 BCLA v /R=— 1
FSEsivNES 2 A SR T 41 #t 3
KT 1

- 35 -




INFAR

AEIK
ST R T4 |HEEPER 2 4
T P = S BRI AR 1 4
PR EAR AT B AR 1 4
R G4 PR 1 4
[F S f 2 R 1 4
NEAREE R 1 4
SEAREE TR R 1 4
SEARER ST L R 1 4
THRPEZE R FAT IR AR 2 4
BER R R e e 2 4
J = MVE DI RE R 1 4
FLH 7R 4 4
AR 2 4
AL 1 4
AP CRIA ) 1 4
AT S R 1 4
7 74 7 23 4
At 30 4

- 36 -




